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DEFINICION DE “X" A"Y" INICIATIVAS PRIORIDAD IMPACTO RESULTADO
KR1 e [ﬁ PRIORIDAD 51 2| 3| sa | s | 6 | 7| s | s9 | s | su| sn
IMPACTO (13) | CONFIANZA(1-3) | FACILIDAD (1-3) IXCXF RESULTADO
KR2 oKt [ﬁ PRIORIDAD st 2 | 3| sa | s | os6 | 57| s | s9 | s | su| sn
IMPACTO (13) | CONFIANZA (1-3) | FACILIDAD (1-3) IXCXF RESULTADO
KR3 K¢ [lb PRIORIDAD 51 2| 3| sa | s | s6 | st | 8 | s9 | s | su| osu
IMPACTO (13) | CONFIANZA(1-3) | FACILIDAD (1-3) IXCXF RESULTADO
y) KR4 ot [ﬁ PRIORIDAD 51 2| 3| sa | s | 6 | 7| 8 | s9 | s | su| sn
IMPACTO (13) | CONFIANZA(1-3) | FACILIDAD (1-3) IXCXF RESULTADO
KR5 ot [ﬁ PRIORIDAD 51 2 | 3| sa | s | s6 | st | s8 | s9 | s | su| sw
IMPACTO (13) | CONFIANZA (1-3) | FACILIDAD (1-3) IXCXF RESULTADO
KR6 oKt [ﬁ PRIORIDAD 51 2| 3| sa | s | ose | st | 8 | s9 | s | su| osw
IMPACTO (13) | CONFIANZA(1-3) | FACILIDAD (1-3) IXCXF RESULTADO
3 KR7 e EIB PRIORIDAD 51 2| 3| sa | s | s6 | 57| s | s9 | s | su| osn
IMPACTO (1-3) | CONFIANZA(1-3) | FACILIDAD (1-3) IXCXF RESULTADO
KR8 orct [ﬁ PRIORIDAD 51 2 | 3| sa | s | s6 | st | s8 | s9 | s | su| sw
IMPACTO (13) | CONFIANZA (1-3) | FACILIDAD (1-3) IXCXF RESULTADO
KR9 oK% [& PRIORIDAD 51 2| 3| sa | s | se | 7| s | s9 | s | su| sn
IMPACTO (13) | CONFIANZA(1-3) | FACILIDAD (1-3) IXCXF RESULTADO
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